Lake County Division of Transportation	on					
Secti Descripti CPMS I	Sect: Big Hollow Road Resurfaci ion: 20-00229-02-RS ion: County line to US. Route 1: Pin: B-01492 late: 6/7/2022		ived			
Bidder Peter Baker & Son Company Payne & Dolan, Inc.	Address 1349 Rockland Road 28435 W. Route 173	City, State, Zip Lake Bluff, IL 60044 Antioch, IL 60002	Bond Bid Bond Bid Bond			Eng. Estimate \$248,009.53
Engineer's Estimate				\$1,803,661.20		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.	N	Mgr Capital Prograr	mming	
Construction	Project File	Request By Mail				



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Day Carls	Description	Ou a matitu	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker & Son Company		
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20101100	TREE TRUNK PROTECTION	10.0	EACH	\$140.00	\$1,400.00	\$150.00	\$1,500.00	\$150.00	\$1,500.00	
2	20101200	TREE ROOT PRUNING	15.0	EACH	\$120.00	\$1,800.00	\$100.00	\$1,500.00	\$100.00	\$1,500.00	
3	20200100	EARTH EXCAVATION	20.0	CU YD	\$85.00	\$1,700.00	\$54.85	\$1,097.00	\$87.55	\$1,751.00	
4	20800150	TRENCH BACKFILL	36.0	CU YD	\$50.00	\$1,800.00	\$88.65	\$3,191.40	\$35.00	\$1,260.00	
5	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	50.0	SQ YD	\$10.00	\$500.00	\$1.00	\$50.00	\$1.00	\$50.00	
6	21400100	GRADING AND SHAPING DITCHES	450.0	FOOT	\$15.00	\$6,750.00	\$36.50	\$16,425.00	\$25.00	\$11,250.00	
7		TEMPORARY EROSION CONTROL SEEDING	3.0	POUND	\$50.00	\$150.00	\$0.10	\$0.30	\$0.10	\$0.30	
8	28000400	PERIMETER EROSION BARRIER	585.0	FOOT	\$4.00	\$2,340.00	\$5.50	\$3,217.50	\$5.50	\$3,217.50	
9	28000500	INLET AND PIPE PROTECTION	6.0	EACH	\$200.00	\$1,200.00	\$125.00	\$750.00	\$125.00	\$750.00	
10	28000510	INLET FILTERS	65.0	EACH	\$150.00	\$9,750.00	\$175.00	\$11,375.00	\$175.00	\$11,375.00	
11		TEMPORARY EROSION CONTROL BLANKET	150.0	SQ YD	\$8.00	\$1,200.00	\$1.00	\$150.00	\$1.00	\$150.00	
12	28100105	STONE RIPRAP, CLASS A3	11.0	SQ YD	\$100.00	\$1,100.00	\$250.00	\$2,750.00	\$150.00	\$1,650.00	
13	28200200	FILTER FABRIC	14.0	SQ YD	\$20.00	\$280.00	\$50.00	\$700.00	\$1.00	\$14.00	
14	30300001	AGGREGATE SUBGRADE IMPROVEMENT	17.0	CU YD	\$100.00	\$1,700.00	\$113.00	\$1,921.00	\$99.15	\$1,685.55	
15	35101400	AGGREGATE BASE COURSE, TYPE B	606.0	TON	\$30.00	\$18,180.00	\$56.00	\$33,936.00	\$5.00	\$3,030.00	
16	35101600	AGGREGATE BASE COURSE, TYPE B 4"	130.0	SQ YD	\$11.00	\$1,430.00	\$14.00	\$1,820.00	\$14.00	\$1,820.00	
17	40600370	LONGITUDINAL JOINT SEALANT	25,762.0	FOOT	\$1.00	\$25,762.00	\$2.28	\$58,737.36	\$3.35	\$86,302.70	
18	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	55.0	TON	\$200.00	\$11,000.00	\$250.00	\$13,750.00	\$250.00	\$13,750.00	
19	MURUUARA	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	251.0	SQ YD	\$15.00	\$3,765.00	\$30.00	\$7,530.00	\$3.50	\$878.50	
20	40600990	TEMPORARY RAMP	50.0	SQ YD	\$35.00	\$1,750.00	\$41.00	\$2,050.00	\$30.00	\$1,500.00	



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Day Oada	Para selection	0	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
21	710603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	2,237.0	TON	\$100.00	\$223,700.00	\$139.00	\$310,943.00	\$104.00	\$232,648.00
22	70607060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	256.0	TON	\$115.00	\$29,440.00	\$155.00	\$39,680.00	\$190.25	\$48,704.00
23	710607063	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	4,587.0	TON	\$80.00	\$366,960.00	\$105.00	\$481,635.00	\$85.00	\$389,895.00
24	40700100	BITUMINOUS MATERIALS (TACK COAT)	28,182.0	POUND	\$0.50	\$14,091.00	\$0.01	\$281.82	\$0.01	\$281.82
25	42001300	PROTECTIVE COAT	542.0	SQ YD	\$2.00	\$1,084.00	\$5.00	\$2,710.00	\$5.00	\$2,710.00
26		PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,166.0	SQ FT	\$9.00	\$10,494.00	\$9.00	\$10,494.00	\$9.00	\$10,494.00
27	42400800	DETECTABLE WARNINGS	96.0	SQ FT	\$30.00	\$2,880.00	\$45.00	\$4,320.00	\$45.00	\$4,320.00
28		HOT-MIX ASPHALT SURFACE REMOVAL, 3"	36,963.0	SQ YD	\$4.00	\$147,852.00	\$3.75	\$138,611.25	\$3.25	\$120,129.75
29	44000200	DRIVEWAY PAVEMENT REMOVAL	1,623.0	SQ YD	\$12.00	\$19,476.00	\$21.00	\$34,083.00	\$28.00	\$45,444.00
30		COMBINATION CURB AND GUTTER REMOVAL	2,066.0	FOOT	\$9.00	\$18,594.00	\$24.00	\$49,584.00	\$24.00	\$49,584.00
31	44000600	SIDEWALK REMOVAL	1,090.0	SQ FT	\$3.00	\$3,270.00	\$5.00	\$5,450.00	\$5.00	\$5,450.00
32	44004250	PAVED SHOULDER REMOVAL	531.0	SQ YD	\$25.00	\$13,275.00	\$40.00	\$21,240.00	\$45.70	\$24,266.70
33	44201811	CLASS D PATCHES, TYPE I, 14 INCH	375.0	SQ YD	\$90.00	\$33,750.00	\$250.00	\$93,750.00	\$50.00	\$18,750.00
34	44201815	CLASS D PATCHES, TYPE II, 14 INCH	277.0	SQ YD	\$90.00	\$24,930.00	\$200.00	\$55,400.00	\$50.00	\$13,850.00
35	44201819	CLASS D PATCHES, TYPE III, 14 INCH	832.0	SQ YD	\$80.00	\$66,560.00	\$150.00	\$124,800.00	\$50.00	\$41,600.00
36	44201821	CLASS D PATCHES, TYPE IV, 14 INCH	700.0	SQ YD	\$75.00	\$52,500.00	\$100.00	\$70,000.00	\$50.00	\$35,000.00
37	48101200	AGGREGATE SHOULDERS, TYPE B	54.0	TON	\$60.00	\$3,240.00	\$65.00	\$3,510.00	\$100.00	\$5,400.00
38	48203013	HOT-MIX ASPHALT SHOULDERS, 4"	508.0	SQ YD	\$35.00	\$17,780.00	\$50.00	\$25,400.00	\$62.40	\$31,699.20
39	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	88.0	SQ YD	\$90.00	\$7,920.00	\$75.00	\$6,600.00	\$37.15	\$3,269.20



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Day Cada	Description	Our matitus	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
40	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	155.0	FOOT	\$85.00	\$13,175.00	\$222.35	\$34,464.25	\$120.00	\$18,600.00
41	55100500	STORM SEWER REMOVAL 12"	155.0	FOOT	\$20.00	\$3,100.00	\$84.25	\$13,058.75	\$115.00	\$17,825.00
42	60100905	PIPE DRAINS 4"	215.0	FOOT	\$20.00	\$4,300.00	\$20.95	\$4,504.25	\$40.00	\$8,600.00
43	60100915	PIPE DRAINS 6"	1,300.0	FOOT	\$25.00	\$32,500.00	\$22.70	\$29,510.00	\$55.00	\$71,500.00
44	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	6.0	EACH	\$3,300.00	\$19,800.00	\$4,191.00	\$25,146.00	\$2,725.00	\$16,350.00
45	60250200	CATCH BASINS TO BE ADJUSTED	51.0	EACH	\$400.00	\$20,400.00	\$555.00	\$28,305.00	\$550.00	\$28,050.00
46	60252800	CATCH BASINS TO BE RECONSTRUCTED	6.0	EACH	\$1,200.00	\$7,200.00	\$1,470.00	\$8,820.00	\$1,830.00	\$10,980.00
47	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$700.00	\$700.00	\$1,068.00	\$1,068.00	\$1,200.00	\$1,200.00
48	60260100	INLETS TO BE ADJUSTED	3.0	EACH	\$625.00	\$1,875.00	\$580.00	\$1,740.00	\$725.00	\$2,175.00
49	60500050	REMOVING CATCH BASINS	6.0	EACH	\$750.00	\$4,500.00	\$96.00	\$576.00	\$1,000.00	\$6,000.00
50		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	2,066.0	FOOT	\$35.00	\$72,310.00	\$59.00	\$121,894.00	\$59.00	\$121,894.00
51		STEEL PLATE BEAM GUARD RAIL, TYPE A, 6 FOOT POSTS	138.0	FOOT	\$30.00	\$4,140.00	\$48.81	\$6,735.78	\$48.81	\$6,735.78
52		TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	1.0	EACH	\$3,000.00	\$3,000.00	\$3,215.78	\$3,215.78	\$3,215.78	\$3,215.78
53	63200310	GUARDRAIL REMOVAL	163.0	FOOT	\$12.00	\$1,956.00	\$11.28	\$1,838.64	\$11.28	\$1,838.64
54	67100100	MOBILIZATION	1.0	L SUM	\$42,000.00	\$42,000.00	\$275,000.00	\$275,000.00	\$127,826.00	\$127,826.00
55	70107025	CHANGEABLE MESSAGE SIGN	60.0	CAL DA	\$30.00	\$1,800.00	\$50.00	\$3,000.00	\$40.00	\$2,400.00
56	70300100	SHORT-TERM PAVEMENT MARKING	19,293.0	FOOT	\$0.80	\$15,434.40	\$0.01	\$192.93	\$0.01	\$192.93
57		SHORT TERM PAVEMENT MARKING REMOVAL	7,147.0	SQ FT	\$1.00	\$7,147.00	\$0.01	\$71.47	\$0.01	\$71.47
58		TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	9,646.0	FOOT	\$1.00	\$9,646.00	\$0.15	\$1,446.90	\$0.01	\$96.46



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Day Cada	Description	Over metite :	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
59	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	827.0	SQ FT	\$5.00	\$4,135.00	\$5.50	\$4,548.50	\$5.00	\$4,135.00
60		THERMOPLASTIC PAVEMENT MARKING - LINE 4"	26,266.0	FOOT	\$0.65	\$17,072.90	\$0.70	\$18,386.20	\$0.70	\$18,386.20
61		THERMOPLASTIC PAVEMENT MARKING - LINE 5"	16,871.0	FOOT	\$0.85	\$14,340.35	\$0.75	\$12,653.25	\$0.90	\$15,183.90
62		THERMOPLASTIC PAVEMENT MARKING - LINE 6"	2,736.0	FOOT	\$1.25	\$3,420.00	\$1.40	\$3,830.40	\$1.00	\$2,736.00
63		THERMOPLASTIC PAVEMENT MARKING - LINE 8"	380.0	FOOT	\$2.00	\$760.00	\$1.75	\$665.00	\$1.40	\$532.00
64		THERMOPLASTIC PAVEMENT MARKING - LINE 12"	2,075.0	FOOT	\$2.50	\$5,187.50	\$2.75	\$5,706.25	\$2.00	\$4,150.00
65		THERMOPLASTIC PAVEMENT MARKING - LINE 24"	203.0	FOOT	\$7.50	\$1,522.50	\$7.50	\$1,522.50	\$5.00	\$1,015.00
66		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	754.0	SQ FT	\$7.00	\$5,278.00	\$5.00	\$3,770.00	\$2.00	\$1,508.00
67		GROOVING FOR RECESSED PAVEMENT MARKING 5"	26,076.0	FOOT	\$0.75	\$19,557.00	\$0.30	\$7,822.80	\$0.35	\$9,126.60
68		GROOVING FOR RECESSED PAVEMENT MARKING 6"	16,695.0	FOOT	\$1.00	\$16,695.00	\$0.35	\$5,843.25	\$0.55	\$9,182.25
69		GROOVING FOR RECESSED PAVEMENT MARKING 7"	2,550.0	FOOT	\$1.25	\$3,187.50	\$0.75	\$1,912.50	\$0.60	\$1,530.00
70		GROOVING FOR RECESSED PAVEMENT MARKING 9"	380.0	FOOT	\$2.00	\$760.00	\$1.50	\$570.00	\$0.80	\$304.00
71		GROOVING FOR RECESSED PAVEMENT MARKING 13"	2,075.0	FOOT	\$2.25	\$4,668.75	\$3.00	\$6,225.00	\$1.50	\$3,112.50
72		GROOVING FOR RECESSED PAVEMENT MARKING 25"	143.0	FOOT	\$10.00	\$1,430.00	\$10.00	\$1,430.00	\$3.00	\$429.00
73	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	103.0	FOOT	\$28.00	\$2,884.00	\$28.60	\$2,945.80	\$28.60	\$2,945.80



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Day Cada	Description.	Ourantitus	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker & Son Company		
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
74		MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$2,700.00	\$2,700.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00	
75		ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,157.0	FOOT	\$1.30	\$1,504.10	\$1.20	\$1,388.40	\$1.20	\$1,388.40	
76		ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,213.0	FOOT	\$1.40	\$1,698.20	\$1.50	\$1,819.50	\$1.50	\$1,819.50	
77		ELECTRIC CABLE IN CONDUIT, LEAD-IN, NO. 16 1 PAIR	774.0	FOOT	\$2.50	\$1,935.00	\$1.30	\$1,006.20	\$1.30	\$1,006.20	
78	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	1,213.0	FOOT	\$3.00	\$3,639.00	\$2.30	\$2,789.90	\$2.30	\$2,789.90	
79	87800100	CONCRETE FOUNDATION, TYPE A	28.0	FOOT	\$300.00	\$8,400.00	\$312.00	\$8,736.00	\$312.00	\$8,736.00	
80	87900200 I	DRILL EXISTING HANDHOLE	8.0	EACH	\$350.00	\$2,800.00	\$347.00	\$2,776.00	\$347.00	\$2,776.00	
81	88102717 I	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.0	EACH	\$700.00	\$5,600.00	\$681.00	\$5,448.00	\$681.00	\$5,448.00	
82	88600600 I	DETECTOR LOOP REPLACEMENT	115.0	FOOT	\$30.00	\$3,450.00	\$28.00	\$3,220.00	\$28.00	\$3,220.00	
83		REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	8.0	EACH	\$4,500.00	\$36,000.00	\$440.00	\$3,520.00	\$440.00	\$3,520.00	
84	LC200051 I	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$500.00	\$2,500.00	\$200.00	\$1,000.00	\$200.00	\$1,000.00	
85	LC200052 I	EXCAVATING EXISTING SHOULDER	2.0	UNIT	\$2,000.00	\$4,000.00	\$4,500.00	\$9,000.00	\$1,180.00	\$2,360.00	
86		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	11,224.0	UNIT	\$1.00	\$11,224.00	\$1.00	\$11,224.00	\$1.00	\$11,224.00	
87		BUTT JOINT FOR ENTRANCE RESURFACING	1,575.0	FOOT	\$8.00	\$12,600.00	\$12.50	\$19,687.50	\$5.00	\$7,875.00	
88	LC400202	SEAL COAT	5,953.0	SQ YD	\$6.00	\$35,718.00	\$15.00	\$89,295.00	\$1.35	\$8,036.55	
89	LC600200 I	INSTALL SURVEY MONUMENTS	1.0	EACH	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$530.00	\$530.00	
90	LC782000	GUARDRAIL REFLECTORS	8.0	EACH	\$20.00	\$160.00	\$12.00	\$96.00	\$12.00	\$96.00	



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Day Carlo	Decembelon	Over melity :	Unit	Eng Es	timate	Payne & Dolan, Inc.		Peter Baker & Son Company	
No.	Pay Code	Description	Quantity		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
91	I C'XUUXUX	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1.0	EACH	\$20,000.00	\$20,000.00	\$30,531.00	\$30,531.00	\$30,531.00	\$30,531.00
92	X1400367	PEDESTRIAN SIGNAL POST, 10 FT.	7.0	EACH	\$1,200.00	\$8,400.00	\$1,804.00	\$12,628.00	\$1,804.00	\$12,628.00
93		TEMPORARY ACCESS (PRIVATE ENTRANCE)	35.0	EACH	\$250.00	\$8,750.00	\$150.00	\$5,250.00	\$1.00	\$35.00
94	X5537800	STORM SEWER TO BE CLEANED 12"	760.0	FOOT	\$15.00	\$11,400.00	\$2.85	\$2,166.00	\$2.85	\$2,166.00
95	X5538000	STORM SEWER TO BE CLEANED 18"	353.0	FOOT	\$25.00	\$8,825.00	\$3.50	\$1,235.50	\$3.50	\$1,235.50
96	X5538200	STORM SEWER TO BE CLEANED 24"	346.0	FOOT	\$30.00	\$10,380.00	\$4.00	\$1,384.00	\$4.00	\$1,384.00
97		ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$2,000.00	\$12,000.00	\$2,500.00	\$15,000.00	\$1,000.00	\$6,000.00
98	X /010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$42,000.00	\$42,000.00	\$31,000.00	\$31,000.00	\$160,750.00	\$160,750.00
99	x /x10300	RECESSED REFLECTIVE PAVEMENT MARKER	140.0	EACH	\$40.00	\$5,600.00	\$50.00	\$7,000.00	\$42.00	\$5,880.00
100	X8760200	ACCESSIBLE PEDESTRIAN SIGNALS	8.0	EACH	\$1,500.00	\$12,000.00	\$1,679.00	\$13,432.00	\$1,679.00	\$13,432.00
101	XX006343	SEEDING (COMPLETE)	1,116.0	SQ YD	\$8.00	\$8,928.00	\$6.50	\$7,254.00	\$6.50	\$7,254.00
102	X X (1) (1) (1)	PAVEMENT MARKING REMOVAL (SPECIAL)	3,215.0	SQ YD	\$1.00	\$3,215.00	\$1.00	\$3,215.00	\$0.01	\$32.15
		Bid Total				\$1,803,661.20		\$2,573,723.83		\$2,051,670.73



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Pay Code Description	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
1	20101100	TREE TRUNK PROTECTION	10.0	EACH	\$140.00	\$1,400.00	\$150.00	\$150.00	\$150.00
2	20101200	TREE ROOT PRUNING	15.0	EACH	\$120.00	\$1,800.00	\$100.00	\$100.00	\$100.00
3	20200100	EARTH EXCAVATION	20.0	CU YD	\$85.00	\$1,700.00	\$54.85	\$87.55	\$71.20
4	20800150	TRENCH BACKFILL	36.0	CU YD	\$50.00	\$1,800.00	\$35.00	\$88.65	\$61.83
5		GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	50.0	SQ YD	\$10.00	\$500.00	\$1.00	\$1.00	\$1.00
6	21400100	GRADING AND SHAPING DITCHES	450.0	FOOT	\$15.00	\$6,750.00	\$25.00	\$36.50	\$30.75
7	78000250	TEMPORARY EROSION CONTROL SEEDING	3.0	POUND	\$50.00	\$150.00	\$0.10	\$0.10	\$0.10
8	28000400	PERIMETER EROSION BARRIER	585.0	FOOT	\$4.00	\$2,340.00	\$5.50	\$5.50	\$5.50
9	28000500	INLET AND PIPE PROTECTION	6.0	EACH	\$200.00	\$1,200.00	\$125.00	\$125.00	\$125.00
10	28000510	INLET FILTERS	65.0	EACH	\$150.00	\$9,750.00	\$175.00	\$175.00	\$175.00
11	28001100	TEMPORARY EROSION CONTROL BLANKET	150.0	SQ YD	\$8.00	\$1,200.00	\$1.00	\$1.00	\$1.00
12	28100105	STONE RIPRAP, CLASS A3	11.0	SQ YD	\$100.00	\$1,100.00	\$150.00	\$250.00	\$200.00
13	28200200	FILTER FABRIC	14.0	SQ YD	\$20.00	\$280.00	\$1.00	\$50.00	\$25.50
14	30300001	AGGREGATE SUBGRADE IMPROVEMENT	17.0	CU YD	\$100.00	\$1,700.00	\$99.15	\$113.00	\$106.08



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Pay Code	Description Q	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
15	35101400	AGGREGATE BASE COURSE, TYPE B	606.0	TON	\$30.00	\$18,180.00	\$5.00	\$56.00	\$30.50
16	35101600	AGGREGATE BASE COURSE, TYPE B 4"	130.0	SQ YD	\$11.00	\$1,430.00	\$14.00	\$14.00	\$14.00
17	40600370	LONGITUDINAL JOINT SEALANT	25,762.0	FOOT	\$1.00	\$25,762.00	\$2.28	\$3.35	\$2.82
18		MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	55.0	TON	\$200.00	\$11,000.00	\$250.00	\$250.00	\$250.00
19	ALINI III YA Z	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	251.0	SQ YD	\$15.00	\$3,765.00	\$3.50	\$30.00	\$16.75
20	40600990	TEMPORARY RAMP	50.0	SQ YD	\$35.00	\$1,750.00	\$30.00	\$41.00	\$35.50
21	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	2,237.0	TON	\$100.00	\$223,700.00	\$104.00	\$139.00	\$121.50
22	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	256.0	TON	\$115.00	\$29,440.00	\$155.00	\$190.25	\$172.63
23	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	4,587.0	TON	\$80.00	\$366,960.00	\$85.00	\$105.00	\$95.00
24	40700100	BITUMINOUS MATERIALS (TACK COAT)	28,182.0	POUND	\$0.50	\$14,091.00	\$0.01	\$0.01	\$0.01
25	42001300	PROTECTIVE COAT	542.0	SQ YD	\$2.00	\$1,084.00	\$5.00	\$5.00	\$5.00
26	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,166.0	SQ FT	\$9.00	\$10,494.00	\$9.00	\$9.00	\$9.00
27	42400800	DETECTABLE WARNINGS	96.0	SQ FT	\$30.00	\$2,880.00	\$45.00	\$45.00	\$45.00



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Pay Code	y Code Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Fay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
28	7/11/11/17/67	HOT-MIX ASPHALT SURFACE REMOVAL, 3"	36,963.0	SQ YD	\$4.00	\$147,852.00	\$3.25	\$3.75	\$3.50
29	44000200	DRIVEWAY PAVEMENT REMOVAL	1,623.0	SQ YD	\$12.00	\$19,476.00	\$21.00	\$28.00	\$24.50
30	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,066.0	FOOT	\$9.00	\$18,594.00	\$24.00	\$24.00	\$24.00
31	44000600	SIDEWALK REMOVAL	1,090.0	SQ FT	\$3.00	\$3,270.00	\$5.00	\$5.00	\$5.00
32	44004250	PAVED SHOULDER REMOVAL	531.0	SQ YD	\$25.00	\$13,275.00	\$40.00	\$45.70	\$42.85
33	44201811	CLASS D PATCHES, TYPE I, 14 INCH	375.0	SQ YD	\$90.00	\$33,750.00	\$50.00	\$250.00	\$150.00
34	44201815	CLASS D PATCHES, TYPE II, 14 INCH	277.0	SQ YD	\$90.00	\$24,930.00	\$50.00	\$200.00	\$125.00
35	44201819	CLASS D PATCHES, TYPE III, 14 INCH	832.0	SQ YD	\$80.00	\$66,560.00	\$50.00	\$150.00	\$100.00
36	44201821	CLASS D PATCHES, TYPE IV, 14 INCH	700.0	SQ YD	\$75.00	\$52,500.00	\$50.00	\$100.00	\$75.00
37	48101200	AGGREGATE SHOULDERS, TYPE B	54.0	TON	\$60.00	\$3,240.00	\$65.00	\$100.00	\$82.50
38	48203013	HOT-MIX ASPHALT SHOULDERS, 4"	508.0	SQ YD	\$35.00	\$17,780.00	\$50.00	\$62.40	\$56.20
39	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	88.0	SQ YD	\$90.00	\$7,920.00	\$37.15	\$75.00	\$56.08
40	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	155.0	FOOT	\$85.00	\$13,175.00	\$120.00	\$222.35	\$171.18
41	55100500	STORM SEWER REMOVAL 12"	155.0	FOOT	\$20.00	\$3,100.00	\$84.25	\$115.00	\$99.63
42	60100905	PIPE DRAINS 4"	215.0	FOOT	\$20.00	\$4,300.00	\$20.95	\$40.00	\$30.48



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Pay Code Description	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Omt	Unit Price	Extnd. Price	Price	Price	Price
43	60100915	PIPE DRAINS 6"	1,300.0	FOOT	\$25.00	\$32,500.00	\$22.70	\$55.00	\$38.85
44	60201340	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24 FRAME AND GRATE	6.0	EACH	\$3,300.00	\$19,800.00	\$2,725.00	\$4,191.00	\$3,458.00
45	60250200	CATCH BASINS TO BE ADJUSTED	51.0	EACH	\$400.00	\$20,400.00	\$550.00	\$555.00	\$552.50
46	60252800	CATCH BASINS TO BE RECONSTRUCTED	6.0	EACH	\$1,200.00	\$7,200.00	\$1,470.00	\$1,830.00	\$1,650.00
47	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$700.00	\$700.00	\$1,068.00	\$1,200.00	\$1,134.00
48	60260100	INLETS TO BE ADJUSTED	3.0	EACH	\$625.00	\$1,875.00	\$580.00	\$725.00	\$652.50
49	60500050	REMOVING CATCH BASINS	6.0	EACH	\$750.00	\$4,500.00	\$96.00	\$1,000.00	\$548.00
50	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	2,066.0	FOOT	\$35.00	\$72,310.00	\$59.00	\$59.00	\$59.00
51	63000001	STEEL PLATE BEAM GUARD RAIL, TYPE A, 6 FOOT POSTS	138.0	FOOT	\$30.00	\$4,140.00	\$48.81	\$48.81	\$48.81
52	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	1.0	EACH	\$3,000.00	\$3,000.00	\$3,215.78	\$3,215.78	\$3,215.78
53	63200310	GUARDRAIL REMOVAL	163.0	FOOT	\$12.00	\$1,956.00	\$11.28	\$11.28	\$11.28
54	67100100	MOBILIZATION	1.0	L SUM	\$42,000.00	\$42,000.00	\$127,826.00	\$275,000.00	\$201,413.00
55	70107025	CHANGEABLE MESSAGE SIGN	60.0	CAL DA	\$30.00	\$1,800.00	\$40.00	\$50.00	\$45.00
56	70300100	SHORT-TERM PAVEMENT MARKING	19,293.0	FOOT	\$0.80	\$15,434.40	\$0.01	\$0.01	\$0.01



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item	Pay Code Descr	Description	Quantity	Quantity Unit		stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
57	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	7,147.0	SQ FT	\$1.00	\$7,147.00	\$0.01	\$0.01	\$0.01
58	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	9,646.0	FOOT	\$1.00	\$9,646.00	\$0.01	\$0.15	\$0.08
59	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	827.0	SQ FT	\$5.00	\$4,135.00	\$5.00	\$5.50	\$5.25
60	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	26,266.0	FOOT	\$0.65	\$17,072.90	\$0.70	\$0.70	\$0.70
61	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	16,871.0	FOOT	\$0.85	\$14,340.35	\$0.75	\$0.90	\$0.83
62	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	2,736.0	FOOT	\$1.25	\$3,420.00	\$1.00	\$1.40	\$1.20
63	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	380.0	FOOT	\$2.00	\$760.00	\$1.40	\$1.75	\$1.58
64	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	2,075.0	FOOT	\$2.50	\$5,187.50	\$2.00	\$2.75	\$2.38
65	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	203.0	FOOT	\$7.50	\$1,522.50	\$5.00	\$7.50	\$6.25
66	78011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	754.0	SQ FT	\$7.00	\$5,278.00	\$2.00	\$5.00	\$3.50
67	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	26,076.0	FOOT	\$0.75	\$19,557.00	\$0.30	\$0.35	\$0.33



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
					Unit Price	Extnd. Price	Price	Price	Price
68	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	16,695.0	FOOT	\$1.00	\$16,695.00	\$0.35	\$0.55	\$0.45
69	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	2,550.0	FOOT	\$1.25	\$3,187.50	\$0.60	\$0.75	\$0.68
70	78011045	GROOVING FOR RECESSED PAVEMENT MARKING 9"	380.0	FOOT	\$2.00	\$760.00	\$0.80	\$1.50	\$1.15
71	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	2,075.0	FOOT	\$2.25	\$4,668.75	\$1.50	\$3.00	\$2.25
72	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	143.0	FOOT	\$10.00	\$1,430.00	\$3.00	\$10.00	\$6.50
73	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	103.0	FOOT	\$28.00	\$2,884.00	\$28.60	\$28.60	\$28.60
74	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$2,700.00	\$2,700.00	\$1,760.00	\$1,760.00	\$1,760.00
75	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	1,157.0	FOOT	\$1.30	\$1,504.10	\$1.20	\$1.20	\$1.20
76	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,213.0	FOOT	\$1.40	\$1,698.20	\$1.50	\$1.50	\$1.50
77	87301405	ELECTRIC CABLE IN CONDUIT, LEAD-IN, NO. 16 1 PAIR	774.0	FOOT	\$2.50	\$1,935.00	\$1.30	\$1.30	\$1.30



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
					Unit Price	Extnd. Price	Price	Price	Price
78	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	1,213.0	FOOT	\$3.00	\$3,639.00	\$2.30	\$2.30	\$2.30
79	87800100	CONCRETE FOUNDATION, TYPE A	28.0	FOOT	\$300.00	\$8,400.00	\$312.00	\$312.00	\$312.00
80	87900200	DRILL EXISTING HANDHOLE	8.0	EACH	\$350.00	\$2,800.00	\$347.00	\$347.00	\$347.00
81	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH COUNTDOWN TIMER	8.0	EACH	\$700.00	\$5,600.00	\$681.00	\$681.00	\$681.00
82	88600600	DETECTOR LOOP REPLACEMENT	115.0	FOOT	\$30.00	\$3,450.00	\$28.00	\$28.00	\$28.00
83	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	8.0	EACH	\$4,500.00	\$36,000.00	\$440.00	\$440.00	\$440.00
84	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$500.00	\$2,500.00	\$200.00	\$200.00	\$200.00
85	LC200052	EXCAVATING EXISTING SHOULDER	2.0	UNIT	\$2,000.00	\$4,000.00	\$1,180.00	\$4,500.00	\$2,840.00
86	1 0200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	11,224.0	UNIT	\$1.00	\$11,224.00	\$1.00	\$1.00	\$1.00
87	1 (2400100	BUTT JOINT FOR ENTRANCE RESURFACING	1,575.0	FOOT	\$8.00	\$12,600.00	\$5.00	\$12.50	\$8.75
88	LC400202	SEAL COAT	5,953.0	SQ YD	\$6.00	\$35,718.00	\$1.35	\$15.00	\$8.18
89	LC600200	INSTALL SURVEY MONUMENTS	1.0	EACH	\$1,000.00	\$1,000.00	\$530.00	\$1,500.00	\$1,015.00
90	LC782000	GUARDRAIL REFLECTORS	8.0	EACH	\$20.00	\$160.00	\$12.00	\$12.00	\$12.00



Project: Big Hollow Road Resurfacing

Section: 20-00229-02-RS

Description: County line to US. Route 12

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
					Unit Price	Extnd. Price	Price	Price	Price
91	LC800808	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	1.0	EACH	\$20,000.00	\$20,000.00	\$30,531.00	\$30,531.00	\$30,531.00
92	X1400367	PEDESTRIAN SIGNAL POST, 10 FT.	7.0	EACH	\$1,200.00	\$8,400.00	\$1,804.00	\$1,804.00	\$1,804.00
93	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	35.0	EACH	\$250.00	\$8,750.00	\$1.00	\$150.00	\$75.50
94	X5537800	STORM SEWER TO BE CLEANED 12"	760.0	FOOT	\$15.00	\$11,400.00	\$2.85	\$2.85	\$2.85
95	X5538000	STORM SEWER TO BE CLEANED 18"	353.0	FOOT	\$25.00	\$8,825.00	\$3.50	\$3.50	\$3.50
96	X5538200	STORM SEWER TO BE CLEANED 24"	346.0	FOOT	\$30.00	\$10,380.00	\$4.00	\$4.00	\$4.00
97	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6.0	CAL MO	\$2,000.00	\$12,000.00	\$1,000.00	\$2,500.00	\$1,750.00
98	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$42,000.00	\$42,000.00	\$31,000.00	\$160,750.00	\$95,875.00
99	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	140.0	EACH	\$40.00	\$5,600.00	\$42.00	\$50.00	\$46.00
100	X8760200	ACCESSIBLE PEDESTRIAN SIGNALS	8.0	EACH	\$1,500.00	\$12,000.00	\$1,679.00	\$1,679.00	\$1,679.00
101	XX006343	SEEDING (COMPLETE)	1,116.0	SQ YD	\$8.00	\$8,928.00	\$6.50	\$6.50	\$6.50
102	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	3,215.0	SQ YD	\$1.00	\$3,215.00	\$0.01	\$1.00	\$0.51
		Bid Total				\$1,803,661.20			